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1.2

1.3

Stability 3.F8F

@
D
2)
3)
4)

5)

6)
@

D

2)

®

- == D
v 447Et

tl
Df’
Df

y a
yb
A

CB
tangp B

14

Dy

.00 (kN/m?)
35.
.00 (M

0 C)

2.00 (m)

19.
18.
16.
10.

.00 (m

00  20.00
00  19.00
00  17.00
00 (kN/m?)

.00 (kN/m?)
.60

(kN/m?)
(kN/m*)
(kKN/m?)

FORUMS8




1.4

1.5

1.6

€y
i
N
Hx
M
V— ° S
Lo
(o]
Hy]
15000
@
No V(KN) m
Hy (kN) Mx(kN.m) Hx (kN) My (kN.m)
1 31506.88 0.00 0.00 0.00 0.00 0.00
2 24506.88 5612.34 47290.43 0.00 0.00 0.00
3 24506.88 0.00 0.00 5612.34 49830.43 0.00
Hy , Hx Mx , My
No
e B fa (kN/m?)
1 1 6.00 1.50 400.00 3.00
2 1 3.00 1.20 e 2.00
3 1 3.00 1.20 E— 2.00
No Df Df*" y 1 y 2
) ) (KN/) | (kN/)
1 5.00 2.00 10.000 17.000
2 5.00 2.00 10.000 17.000
3 5.00 2.00 10.000 17.000

FORUMS8



2
2.1
MB
e = I = ea (m)
e (m
ea =B 6.00 (m)
=B 3.00 (m)
B (m)
MB (kN.m)
v (kN)
@ B= 8.50 (m)
No MB V e ea
(kN.m) N) (m (m
1 0.00 31506.88 | 0.000 | 1.417 | OK
2 47290.43 24506.88 | 1.930 | 2.833 | OK
3 0.00 24506.88 | 0.000 | 2.833 | OK
2 B = 15.00 (m)
No MB \% e ea
(kN.m) (kN) (m (m
1 0.00 31506.88 | 0.000 | 2.500 | OK
2 0.00 24506.88 | 0.000 | 5.000 | OK
3 49830.43 24506.88 | 2.033 | 5.000 | OK
VetanpB + CB « Ae
fs = = fa
HB
fs
fa = 1.500
= 1.200
tang B = 0.60
CB = 0.00 (kN/m?)
Ae (m) = B 2e D
D (m
HB (kN)
1) B= 850(m D= 15.00 (m)
HB Ae
No (kN o) fs fa
1 0.00 | 127.500
2 5612.34 69.610 2.620 1.200 | OK
3 0.00 | 127.500

FORUMS8



2) B= 15.00 (m) D= 8.50 (m
HB Ae
No (kN o) fs fa
1 0.00 | 127.500
2 0.00 | 127.500
3 5612.34 92.933 2.620 1.200 | OK
@
B
x:g-(——-e)
2
X (m)
B (m)
@) X B
2.V
gmax = DX = qa (kN/m)
gmax (kN/m?)
D (m)
©)) X B
v 6« MB
= + = kN/m*
amax = ——— B qa (kN/m’)
v 6 - MB
gmin = 0B DB = ga (kN/m)
gmin (kN/m?)
MB (kN.m)
ga (kN/m?)
O]
1) B= 850(m D= 15.00 (m)
No X gmax gmin ga
m (kN/m*) (kN/m*) (kN/m*)
1 247.113 | 247.113 | 400.000 OK
2 6.961 469.416 —
3 192.211 | 192.211 | —— —
2) B= 15.00 (m) D= 8.50 (m)
No X gmax gmin ga
m (kN/m?) (kN/m?) (kN/m?)
1 247.113 | 247.113 | 400.000 OK
2 192.211 | 192.211 | —— —
3 348.542 35.880 | —— —

FORUMS8



Ga= 2 = v
n
Qu=Ae*!{ aa+k *C*Nc*Sc + K *q*Nqg+Sq + —%;—- yl+ B +Be*Ny Sy (kN)
Qa (kN)
n = 3.00
= 2.00
Qu (kN)
C = 0.00 (kN/m?)
=y 2 DFf (kN/m?)
Ae (m*) =Be De
y1 (kN/m*)
y 2 (kN/m?)
Be (m) =B 2 eB
De (m) =D 2 eD
(m)
(m)
eB (m) =MB V
eD (m) =MD V
MB (kN.m)
MD (kN.m)
(kN)
a =1 0.3 Be De Be De 1 Be De =
B =1 0.4 Be De Be De 1 Be De =
K =1 0.3 Df* Be
Df = 5.00 (m)
Df = 2.00 (m)
Nc Ng Nr
(0] (tand )
tan@ =HB V
HB (kN)
0 =35.0 C )
Sc Sq Sr
Sc = (c*)* = 1.000
Sq = (@)’
Sr = (B*)*
A =v =y = 1/3
c*=c co 1 c* 10
g*=q qo 1 g* 10
B*=Be Bo 1 B*
co=10(kN/m*)  qo=10(kN/m*) Bo=1.0(m)
(€)) B= 8.50(m D= 15.00 (m)
No (kNE.‘m) (kN[.’m) ?ﬁ) ?r?q) ?ﬁ) Eﬁ) a B K (Eﬁ)
1 0.00 0.00 | 0.000 | 0.000 8.500 15.000 1.170 | 0.773 | 1.071 0.00

FORUMS8




No MB MD eB eD Be De o B K HB
(kN.m) (kN.m) (m (m (m) (m (kN)

2 47290.43 0.00 | 1.930 | 0.000 4.641 15.000 1.093 | 0.876 | 1.129 5612.34
3 0.00 49830.43 | 0.000 | 2.033 8.500 10.933 1.233 | 0.689 | 1.071 0.00
No Sq Sr Nc Ng Nr

1 0.490 0.490 46.12 33.30 35.15

2 0.490 0.600 27.96 20.02 14.02

3 0.490 0.490 46.12 33.30 35.15
No Qu Qa v

(kN) (kN) (kN)

1 261465.60 87155.20 31506.88 | OK

2 77431.53 38715.77 24506.88 | OK

3 184844.76 92422.38 24506.88 | OK

@) B= 15.00 (m) D= 8.50 (m)
No kMB MD eB eD Be De o B K HB
(kN.m) (kN.m) (m) (m) (m) (m) (kN)

1 0.00 0.00 | 0.000 | 0.000 | 15.000 8.500 1.300 | 0.600 | 1.040 0.00
2 0.00 47290.43 | 0.000 | 1.930 | 15.000 4.641 1.300 | 0.600 | 1.040 0.00
3 49830.43 0.00 | 2.033 | 0.000 | 10.933 8.500 1.300 | 0.600 | 1.055 5612.34
No Sq Sr Nc Nq Nr

1 0.490 0.405 46.12 33.30 35.15

2 0.490 0.405 46.12 33.30 35.15

3 0.490 0.451 27.96 20.02 14.02
No Qu Qa v

(kN) (kN) (kN)

1 265656.43 88552.14 31506.88 | OK

2 145037.18 72518.59 24506.88 | OK

3 100984.76 50492.38 24506.88 | OK

FORUMS8




4.2

4.3

€H)
No
M(KN ) V(KN (m (m
1 0.00 31506.88 0.000 1.417 | o
2 47290.43 24506.88 1.930 2.833 | o
3 0.00 24506.88 0.000 2.833 | o
@
No
M(KN ) V(KN (m (m
1 0.00 31506.88 0.000 2.500 | o
2 0.00 24506.88 0.000 5.000 | o
3 49830.43 24506.88 2.033 5.000 | o
€H)
No
V(KN) HCKN)
1 31506.88 0.00 1.500 | o
2 24506.88 5612.34 2620  1.200 | o
3 24506.88 0.00 1.200 | o
@
No
V(KN HCKN)
1 31506.88 0.00 1.500 | o
2 24506.88 0.00 1.200 | o
3 24506.88 5612.34 2620  1.200 | o
@
No (kN/) (kN/?)
M(KN.m) V(KN (m
1 0.00 | 31506.88 |  8.500 247.113 400.000 | o
2 47290.43 | 24506.88 |  6.961 469.416 — | =
3 0.00 | 24506.88 |  8.500 192.211 — | =

FORUMS8




4.4

)
No (kN/) (kN/)
M(KN.. ) V(KN) (m
1 0.00 | 31506.88 | 15.000 247 113 400.000 | o
2 0.00 | 24506.88 | 15.000 192.211 —
3 49830.43 | 24506.88 | 15.000 348.542 —
(€H)
No (kN) (kN)
M(KN.m) V(KN) HCKN)
1 0.00 | 31506.88 0.00 | 31506.88 87155.20 | o
2 47290.43 | 24506.88 | 5612.34 | 24506.88 38715.77 | o
3 0.00 | 24506.88 0.00 | 24506.88 92422.38 | o
)
No (kN) (kN)
M(KN.m) V(KN) HCKN)
1 0.00 | 31506.88 0.00 | 31506.88 88552.14 | o
2 0.00 | 24506.88 0.00 | 24506.88 72518.59 | o
3 49830.43 | 24506.88 | 5612.34 | 24506.88 50492.38 | o

FORUMS8




o ck 24.00 (N/mm?)
o ca 8.00 (N/mm?)
T al 0.23 (N/mm?)
T a2 1.7  (N/mm?)
TC 0.35 (N/mm?)
Ec 2.50x 10* (N/mm?)
o sy = 345.00 (N/mm?)
o sa = 180.00 (N/mm?)
o sa = 200.00 (N/mm?)
o sy = 345.00 (N/mm?)
o sa = 180.00 (N/mm?)
o sa = 200.00 (N/mm?)
(cm) (mm)
11.0 D22 250
11.0 D25 125
1
(cm) (mm) (cm) (mm)
11.0 D22 125 11.0 D29 125
11.0 D22 125 11.0 D25 125
(cm) (mm)
10.0 100
10.0 100
1(m)
(cm)
D16 4.000 25.0
D16 4.000 25.0

FORUMS8
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5.2

case

2000

2000

2500

2500

15000

8500

2 500

4500

4500

500

FORUMS8




- 11 -

5.3

No

(o2 20 I & 2 B N

~

FORUMS8



- 12 -

5.4

No
9 |h 2
@
a)
T
h3 B
h2 ) !
b
h1 {1 /
L " BEHE
Xe | HBITE=h
@
WL L h1 b yc
x1 L 2
@
W2 L h2 b vy sat
x2 L 2
©))
W3 L h3 b yt
x3 L 2
©)
W4 L hw b yw
x4 L 2
b =15.000(m)
hl = 2.500(m)
y C =24 _50(kN/m*)
y sat =19.00(kN/m*)
yt =18.00(kN/m%)
hw’ (h1 h2) hw (m
Yy w =10.00(kN/m*)
1 L=1.750(m) h 2
W1 =1607.81(kN)
x1 = x2 = x3 = x4 = 0.875(m)
case | 2 h3 hw W2 w3 W4 W T x)
(m) (m) (m) (kN) (kN) (kN) (kN) (kN.m)
1 0.000 | 0.500 | 0.000 0.00 236.25 0.00 | 1844.06 1613.55

FORUMS8
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case | 2 h3 hw w2 w3 wa W T x)
(m (m (m (kN) (kN) (kN) (kN) (kN.m)
2 0.000 | 0.500 | 0.000 0.00 236.25 0.00 | 1844.06 1613.55
3 0.000 | 0.500 | 0.000 0.00 236.25 0.00 | 1844.06 1613.55
2 L = 3.000(m)
W1 =2756.25(kN)
x1 = x2 = x3 = x4 = 1.500(m)
case | 2 h3 hw w2 w3 W4 =W SW x)
(m) (m) (m) (kN) (kN) (kN) (kN) (kN.m)
1 0.000 | 0.500 | 0.000 0.00 405.00 0.00 | 3161.25 4741.88
2 0.000 | 0.500 | 0.000 0.00 405.00 0.00 | 3161.25 4741.88
3 0.000 | 0.500 | 0.000 0.00 405.00 0.00 | 3161.25 4741.88
3 L = 5.500(m)
W1 =2756.25(kN)
x1 = x2 = x3 = x4 = 1.500(m)
case | 2 h3 hw w2 w3 wa W T x)
(m) (m) (m) (kN) (kN) (kN) (kN) (kN.m)
1 0.000 | 0.500 | 0.000 0.00 405.00 0.00 | 3161.25 4741.88
2 0.000 | 0.500 | 0.000 0.00 405.00 0.00 | 3161.25 4741.88
3 0.000 | 0.500 | 0.000 0.00 405.00 0.00 | 3161.25 4741.88
4 L =6.750(m) h 2
W1 =1607.81(kN)
x1 = x2 = x3 = x4 = 0.875(m)
case | 2 h3 hw W2 w3 W4 W W X)
(m) (m) (m) (kN) (kN) (kN) (kN) (kN.m)
1 0.000 | 0.500 | 0.000 0.00 236.25 0.00 | 1844.06 1613.55
2 0.000 | 0.500 | 0.000 0.00 236.25 0.00 | 1844.06 1613.55
3 0.000 | 0.500 | 0.000 0.00 236.25 0.00 | 1844.06 1613.55

FORUMS8
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b)

AT E

_____7;_______i %_____;r_______

e

TYPE-3
by pie

o2 g2

TYPE4

TYPE-1

Sqg 1/2 (91 g2) b L

Mg 1/6 (2 ql qg2) b*® L
TYPE-2

Sqg 1/2 gl x L

Mg Sq (b x/3)
TYPE-3

Sqg 1/2 g2 x L

Mg 1/6 g2 x* L

(KN.m)

TYPE-4
Sq 0.0
Mg 0.0
Sq (kN)
Ma
gl 2 (kN/m?)
L (m)
1) 1.750(m) h 2
b = 1.750(m) L = 15.000(m)
case | TYPE | ql(kN/m%) g2 (kN/m?) x(m) Sq(kN) Mg(kN.m)
1 1 247.113 247113 | —— 6486.71 5675.87
2 3 E— 14.226 | 0.211 22.51 1.58
3 1 192.211 192.211 | —— 5045.53 4414 .84

FORUMS8
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2) 3.000(m)
b = 3.000(m) L = 15.000(m)
case | TYPE | qLl(kN/m?) | qg2(kN/m?) | x(m) Sq(kN) Mq (KN .m)
1 1 247.113 247.113 | — 11120.08 16680.11
2 3 e 98.521 | 1.461 1079.51 525.71
3 1 192.211 192.211 | —— 8649.49 12974.23
3) 5.500(m)
b = 3.000(m) L = 15.000(m)
case | TYPE | ql(kN/m?) | g2(kN/m?) | x(m) Sq(kN) M (KN .m)
1 1 247.113 247.113 | — 11120.08 16680.11
2 1 469.416 267.109 | — 16571.81 27133.66
3 1 192.211 192.211 | —— 8649.49 12974.23
4) 6.750(m) h 2
b = 1.750(m) L = 15.000(m)
case | TYPE | qLl(kN/m?) | qg2(kN/m?) | x(m) Sq(kN) Ma (KN .m)
1 1 247.113 247.113 | — 6486.71 5675.87
2 1 469.416 351.404 | —— 10773.25 9878.36
3 1 192.211 192.211 | —— 5045.53 4414 .84
c)
S Sq ZW
M Mg Z W x)
1 1.750(m) h 2
case Sq Mq W = Wx S M
(kN) (kN.m) (kN) (kN.m) (kN) (kN.m)
1 6486.71 5675.87 1844 .06 1613.55 4642 .65 4062.32
2 22.51 1.58 1844 .06 1613.55 -1821.55 -1611.97
3 5045.53 4414 .84 1844 .06 1613.55 3201.47 2801.29
2 3.000(m)
case sq Mg W 3 Wix S M
(kN) (kN.m) (kN) (kN.m) (kN) (kN.m)
1 11120.08 16680.11 3161.25 4741.88 7958.83 11938.24
2 1079.51 525.71 3161.25 4741.88 -2081.74 -4216.17
3 8649.49 12974.23 3161.25 4741.88 5488.24 8232.36

FORUMS8
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5.500(m)
case Sq Mg W > Wx S M
(kN) (KN.m) (kN) (kN.m) (kN) (KN.m)
1 11120.08 | 16680.11 3161.25 4741.88 7958.83 | 11938.24
2 16571.81 27133.66 3161.25 4741.88 13410.56 22391.79
3 8649.49 | 12974.23 3161.25 4741.88 5488.24 8232.36
6.750(m) h 2
case Sq Mg W z Wx S M
(kN) (KN.m) (kN) (kN.m) (kN) (KN.m)
1 6486.71 5675.87 1844 .06 1613.55 4642 .65 4062.32
2 10773.25 9878.36 1844.06 1613.55 8929.19 8264.81
3 5045.53 4414.84 1844.06 1613.55 3201.47 2801.29

FORUMS8
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@
—) 1 — 1
[ e S S o —9o 0 0 90
1 2 3 4 b 6 7 8 9 10 111
FRAME
1)
No x(m)
1 0.000
2 0.750 h
3 2.000
4 3.000
5 4.000
6 5.250 h
7 9.750 h
8 11.000
9 12.000
10 13.000
11 14.250 h
12 15.000
hg 1.250(m)
2)
a)
—mm: : [
| ) | h3
g Ly
= T i
l ey : h
I 1 “
1  hw
{1 hi
L]
b

FORUMS8
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1
WiL=b hl yc
= 520.63(kN/m)
2)
w2 b h2 vy sat
3)
w3 b h3 yt
4)
w4 b hw yw
5)
w5 q b
w owl w2 w3 wd wh
6)
wp Ap h2 ysat h3 yt (hw hw ) yw ¢ t
(hw hw ) 0.0
b = 8.500(m)
y c =24.50(kN/m*)
y sat =19.00(kN/m*)
yt =18.00(kN/m*)
hw’ (h1 h2) hw (m)
y w =10.00(kN/m*)
q (kN/m?)
Ap (n*)
t (m D/10
1 2
a(m) 2.000 2.000
b(m) 2.500 2.500
Ap () 5.000 5.000
t (m) 2.000 2.000
case h2 h3 hw q w2 w3 w4 w5 w wp
(m) (m) m | (kN/m) | (kN/m) | (kNZm) | (RNZm) | (kNZm) | (kNZm) | (KNZm)
1 0.000 | 0.500 | 0.000 0.00 0.00 76.50 0.00 0.00 597.13 -22.50
-22.50
2 0.000 | 0.500 | 0.000 0.00 0.00 76.50 0.00 0.00 597.13 -22.50
-22.50
3 0.000 | 0.500 | 0.000 0.00 0.00 76.50 0.00 0.00 597.13 -22.50
-22.50

FORUMS8
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b)
V. Vp
M Mp Hp (h hg)
v (kN)
M (kN.m)
Vp (kN)
Mp (kN.m)
Hp (kN)
h = 2.500(m)
hg
case Vp(kN) Hp(kN) Mp(kN.m) M(KN.m)
1 1 11320.0 190.0 1340.0 1577.5
2 11320.0 -190.0 -1340.0 -1577.5
2 1 7820.0 130.0 930.0 1092.5
2 7820.0 -130.0 -930.0 -1092.5
3 1 5540.0 2050.0 10280.0 12842.5
2 10100.0 1610.0 7440.0 9452.5

= 1.250(m)

FORUMS8
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©)

TYPE-1 qv%LLLLLLlJJJJH

TYPE-2
v

gh

- eE . M M e M o R W W A M

gh

— - e -

—- - — —

JJJJJJJJJJFVI

gh
TYPE-3
SR
|
gh
TYPE-4
v
v q L
gh H B ( )
gh H x( )
gn gh hg
qv (kN/m)
q (kN/m?)
H (kN)
gh (kN/m)
am (kN_.m/m)
B = 15.000(m)
X (m
L 8.500(m)
hg = 1.250(m)
gvl qv2 X H gh gm
case | TYPE | N/m) (kN/m) M (kN) G/my | nem/m)
1 2 2100.46 2100.46 | — 0.00 0.00 0.00
2 2 1633.79 1633.79 | —— 0.00 0.00 0.00
3 1 2962.60 304.98 | — -5612.34 -374.16 -467.69

FORUMS8
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3)

D
1 1 2 2
case =2.000 | x =4.000 | x =11.000 | x =13.000
1 | M(KN.m) 3006.69 2329.19 2329.17 3006.67
S(kN) 3006.66 | -5261.67 5261.67 | -3006.67
2 | M(KN.m) 2073.36 1610.85 1610.84 2073.33
S(kN) 2073.33 | -3628.34 3628.33 | -2073.33
3 | MCkN.m) 587.37 8771.01 | -4344.32 3559.33
S(kN) -229.94 | -5246.18 2010.49 | -4376.61
2)
Mmax Mmin
case
M(KN.m) x(m) M(KN.m) x(m)
1 2329.19 | 4.000 | -6878.74 | 7.500
2 1610.85 | 4.000 | -4738.74 | 7.500
3 8771.01 | 4.000 | -6308.25 | 9.300
3)h 2
(kN)
1 1 2 2
Casé | =0.750 | x= 5.250 | x= 9.750 | x=14.250
1 1127.50 | -3382.50 3382.50 | -1127.50
2 777.50 | -2332.50 2332.50 ~777.50
3 -169.28 | -4587.07 77.93 | -1724.28

FORUMS8
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€))

— 1 2
kN.m 11938.24 -4216.17
mm 12780 8780
mm 2500 2500
mm’ 29271 6060
1 mm 2390 2390
mm D25@125 D22@250
mm? 51683.4 13161.4
mm* 51683.4 13161.4
mm 481.3 306.1
oc N/mm? 1.74 1.37
oS N/mm? 103.6 140.0
o ca N/mm? 8.00 12.00
o sa N/mm? 180.0 300.0
— 1 2
Mu kN.m 41989.8 10792.3
Mc kN.m 25475.8 17502.2
1.7M kN_m 20295.0 7167.5
As mm*/m 4044.1 1499.0
— OK OK
Mc Mu mm*/m E— E—

DMu Mc 2)1.7M Mc 3)As 500(mm?)

1) 2)

3)

OK

FORUMS8
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@

— 2
M kN.m 22391.79
mm 12780
mm 2500
mm’? 33041
1 mm 2390
mm D25@125
mm? 51683.4
mm? 51683.4
mm 481.3
oc N/mm? 3.27
oS N/mm? 194.3
o ca N/mm? 12.00
o sa N/mm? 300.0
— 2
Mu kN.m 41989.8
Mc kN_m 25475.8
1.7M kN.m 38066.0
As mm?/m 4044.1
— OK
Mc Mu mm*/m 2439.5

DMu Mc 2)1.7M Mc 3)As 500(mm?)

n 2

3)

0K

FORUMS8
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®

1
M kN.m 3006.69
mm 7280
mm 2500
mm’? 7244
1 mm 2390
mm D22@125
mm? 22838.9
mm? 22838.9
mm 429.7
oc N/mm? 0.86
oS N/mm? 58.6
o ca N/mm? 8.00
o sa N/mm? 180.0
— 1
Mu kN.m 18618.3
Mc kN_m 14512.1
1.7M kN.m 5111.4
As mm?/m 3137.2
— OK
Mc Mu mm*/m E—

DMu Mc 2)1.7M Mc 3)As 500(mm?)

n 2

3)

0K

FORUMS8
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*

3
M kN.m 8771.01
mm 7280
mm 2500
mm’? 12823
1 mm 2390
mm D25@125
mm? 29895.3
mm? 29895.3
mm 4846
oc N/mm? 2.23
oS N/mm? 131.6
o ca N/mm? 12.00
o sa N/mm? 300.0
— 3
Mu kN.m 24281.6
Mc kN_m 14512.1
1.7M kN.m 14910.7
As mm?/m 4106.5
— OK
Mc Mu mm*/m 2439.5

DMu Mc 2)1.7M Mc 3)As 500(mm?)
1) 2) 3) 0K

FORUMS8
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®

1 2
— 3 1
kN.m 8771.01 -6878.74
mm 7280 4890
mm 2500 2500
mm? 12823 17063
1 mm 2390 2390
mm D25@125 D29@125
mm? 29895.3 25053.6
mm? 29895.3 25053.6
mm 4846 534.1
oc N/mm? 2.23 2.38
oS N/mm? 131.6 124.1
o ca N/mm? 12.00 8.00
o sa N/mm? 300.0 180.0
— 3 1
Mu kN.m 24281.6 20273.1
Mc kN_m 14512.1 9747.8
1.7M kN.m 14910.7 11693.9
As mme/m 4106.5 5123.4
— OK OK
Mc Mu mm*/m 2439.5 2439.5
DMu Mc 2)1.7M Mc 3)As 500(mm?)
1 2) 3) OK

FORUMS8
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(©)

— 1 3
M kN.m 2329.17 -4344 .32
mm 7280 4890
mm 2500 2500
mm’? 5588 6311
1 mm 2390 2390
mm D25@125 D29@125
mm? 29895.3 25053.6
mm? 29895.3 25053.6
mm 4846 534.1
oc N/mm? 0.59 1.50
oS N/mm? 35.0 78.4
o ca N/mm? 8.00 12.00
o sa N/mm? 180.0 300.0
1 3
Mu kN.m 24281.6 20273.1
Mc kN_m 14512.1 9747.8
1.7M kN.m 3959.6 7385.3
As mme/m 4106.5 5123.4
OK OK
Mc Mu mm*/m E— E—

DMu Mc 2)1.7M Mc 3)As 500(mm?)

n 2

3)

0K

FORUMS8
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Q)

1
M kN.m 3006.67
mm 7280
mm 2500
mm’? 7244
1 mm 2390
mm D22@125
mm? 22838.9
mm? 22838.9
mm 429.7
oc N/mm? 0.86
oS N/mm? 58.6
o ca N/mm? 8.00
o sa N/mm? 180.0
— 3
Mu kN.m 18618.3
Mc kN_m 14512.1
1.7M kN.m 6050.9
As mm?/m 3137.2
— OK
Mc Mu mm*/m E—

DMu Mc 2)1.7M Mc 3)As 500(mm?)

n 2

3)

0K

FORUMS8
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®
1)
M(kN.m) o (N/mm?)
case
M gc gs M gc gs o ca o sa
1 11938.24 1.74 | 103. 11938.24 1.74 | 103.6 8.00 | 180.0
2 -4216.17 1.37 | 140. 22391.79 3.27 | 194.3 | 12.00 | 300.0
3 8232.36 1.20 71. 8232.36 1.20 71.4 | 12.00 | 300.0
2)
M(kN.m) o (N/mm?)
M ogcC gs M ogcC gs o ca o0 sa
1 3006.69 0.86 58.6 8.00 | 180.0
2329.19 0.59 35.0 2329.19 0.59 35.0
2329.17 0.59 35.0 -6878.74 2.38 | 124.1
3006.67 0.86 58.6
2 2073.36 0.59 40.4 12.00 | 300.0
1610.85 0.41 24.2 1610.85 0.41 24.2
1610.84 0.41 24.2 -4738.74 1.64 85.5
2073.33 0.59 40.4
3 587.37 0.17 11.4 12.00 | 300.0
8771.01 2.23 | 131.6 8771.01 2.23 | 131.6
-4344.32 1.50 78.4 -6308.25 2.18 | 113.8
3559.33 1.01 69.4

FORUMS8
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5.6

Tm=T—"

Sh
b-d

=ta,

T a2

Ta Ce Cpt Cdc 1 al

d
d(mm) 300 1,000 3,000 5,000 10,000
Ce 1.4 1.0 0.7 0.6 0.5
pt
pt(%) | 0.1 0.2 0.3 0.5 1.0
Cpt 0.7 0.9 1.0 1.2 1.5
a/d’ 0.5 1.0 1.5 2.0 2.5
Cdc 6.4 4.0 2.5 1.6 1.0
T™m (N/mm?)
Sh )
M
ShIS—"E' (tanf3 +tanvy)
S )
M (N.mm)
B )
y )
b (mm)
d (mm)
Ta
T a2 (N/mm?)
Ce d
Cpt pt
pt ) bd
Cdc
a (mm)
a L M® ST
a L L®
M
(N.m)
5"
)
L® 1/2
d (mm)
T al

(N/mm?)

(N/mm?)

FORUMS8
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Tm Ta
1.15+Sh™ -+ s
Awreq=——
gsa-*Cds+d
a d 1.15
Sh’ Sh Sca

Sca Tta b d

1
Cds =——+ d’ =1.0
s =5~ (a/d ) =

Awreq
sh’

S

O sa
Cds
Sca

(mm”)

)
(mm)
(N/mm?)

Q)

1.15a

FORUMS8
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@

— — 1 2
— — 1 1
S kN 4642.6 -1821.6
b mm 15000 15000
h mm 2500 2500
d mm 2390 2390
Ce — 0.791 0.792
pt % 0.17 0.07
Cpt — 0.836 0.632
a mm 1500 3275
d mm 2390 2390
Cdc — 5.787 2.889
Sh kN 4642.6 1821.6
Tm N/mm’ 0.130 0.051
T al N/mm? 0.230 0.350
Ta N/mm? 0.881 0.506
T a2 N/mm’® 1.700 2.550
Sca kN 31590.9 18123.8
sh’ kN 0.0 0.0
S mm 250 250
o sa N/mm? 180.0 300.0
Cds — 0.251 0.548
d 1.15 — mm 2078 2078
Aw mm*/m 794.4 794.4
Awreq | mm*/m 0.0 0.0

FORUMS8
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@

— — 2
— — 4
S kN 8929.2
b mm 15000
h mm 2500
d mm 2390
Ce — 0.791
pt % 0.17
Cpt — 0.836
a mm 1670
d mm 2390
Cdc — 5.447
Sh kN 8929.2
Tm N/mm’ 0.249
T al N/mm? 0.350
Ta N/mm? 1.262
T a2 N/mm’® 2.550
Sca kN 45241.9
sh’ kN 0.0
S mm 250
o sa N/mm? 300.0
Cds — 0.279
d 1.15 — mm 2078
Aw mm*/m 794.4
Awreq | mm*/m 0.0

FORUMS8
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®

— — 1 3

— — 1 1

S kN 1127.5 -169.3

b mm 8500 8500

h mm 2500 2500

d mm 2390 2390

Ce — 0.791 0.791
pt % 0.13 0.13
Cpt — 0.755 0.755
a mm 1000 2514

d mm 2390 2390

Cdc — 6.400 3.845
Sh kN 1127.5 169.3
Tm N/mm’ 0.056 0.008
T al N/mm? 0.230 0.350
Ta N/mm? 0.880 0.805
T a2 N/mm’® 1.700 2.550
Sca kN 17877.9 163444
sh’ kN 0.0 0.0

S mm 250 250

o sa N/mm? 180.0 300.0
Cds — 0.167 0.421

d 1.15 — mm 2078 2078

Aw mm*/m 794.4 794.4
Awreq | mm*/m 0.0 0.0

FORUMS8
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*

— — 1 3

— — 5 6

S kN -3382.5 77.9

b mm 8500 8500

h mm 2500 2500

d mm 2390 2390

Ce — 0.791 0.792
pt % 0.17 0.21
Cpt — 0.834 0.912
a mm —_— —_—

d mm 2390 2390

Cdc — 1.000 1.000
Sh kN 3382.5 77.9
Tm N/mm’ 0.167 0.004
T al N/mm? 0.230 0.350
Ta N/mm? 0.152 0.253
T a2 N/mm’® 1.700 2.550
Sca kN 3085.2 5131.8
sh’ kN 297.3 0.0

S mm 250 250
o sa N/mm? 180.0 300.0
Cds — 1.000 1.000

d 1.15 — mm 2078 2078

Aw mm*/m 794.4 794.4
Awreq | mm*/m 23.4 0.0

FORUMS8
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®

— — 3
— - 9
S kN -1724.3
b mm 8500
h mm 2500
d mm 2390
Ce — 0.791
pt t% 0.13
Cpt — 0.755
a mm 1027
d mm 2390
Cdc — 6.400
Sh kN 1724.3
Tm N/mm’ 0.085
T al N/mm? 0.350
Ta N/mm? 1.339
T a2 N/mm’® 2.550
Sca kN 27205.4
sh’ kN 0.0
S mm 250
o sa N/mm? 300.0
Cds — 0.172
d 1.15 — mm 2078
Aw mm*/m 794.4
Awreq | mm*/m 0.0

FORUMS8
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(©)
D

1 1 h 2
h d Aw
(mm) (mm) Ce Cpt (mm*/m)
2500 | 2390 | 0.791 | 0.836 794
2500 | 2390 | 0.792 | 0.632 794
S ™m Ta T a2 Sca a Awreq
case | (kN /Yy | Q) | v/ (kN Cde | Cds | umy | (mmi/m)
1 4642.65 | 0.130 | 0.88L | 1.700 | 31590.90 | 5.787 | 0.251 | 1500 0
2 | -1821.55| 0.051 | 0.506 | 2.550 | 18123.78 | 2.889 | 0.548 | 3275 0
3 3201.47 | 0.089 | 1.341 | 2.550 | 48073.12 | 5.787 | 0.251 | 1500 0
2) 4 h 2
h d Aw
(mm) (mm) Ce Cpt (mm*/m)
2500 | 2390 | 0.791 | 0.836 794
S ™m Ta T a2 Sca a Awreq
case | () W/ | vy | Q) (kN) Cde | Cds | oumy | (mmi/m)
1 4642.65 | 0.130 | 0.88L | 1.700 | 31590.90 | 5.787 | 0.251 | 1500 0
2 8020.19 | 0.249 | 1.262 | 2.550 | 45241.90 | 5.447 | 0.279 | 1670 0
3 3201.47 | 0.089 | 1.341 | 2.550 | 48073.12 | 5.787 | 0.251 | 1500 0

FORUMS8
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2)
1) 1 h 2
h d Aw
(mm) (mm) Ce Cpt (mm’/m)
2500 2390 | 0.791 | 0.755 794
2500 | 2390 | 0.791| 0.755 794
S ™m Ta T a2 Sca a Awreq
case | () W/mmy | vy | v/ N Cde | Cds | oy | (/)
1 1127.50 | 0.056 0.880 1.700 17877.86 | 6.400 | 0.167 | 1000 0
2 777.50 | 0.038 1.339 2.550 27205.43 | 6.400 | 0.167 | 1000 0
3 -169.28 0.008 0.805 2.550 16344.36 | 3.845 | 0.421 2514 0
2) 5 h 2 1 2
h d Aw
(mm) (mm) Ce Cpt (mm’/m)
2500 2390 | 0.791| 0.834 794
S ™m Ta T a2 Sca a Awreq
case | () /)y | vy | Qum kN) Cde | Cds | oy | (on/m)
1 -3382.50 0.167 0.152 1.700 3085.17 | 1.000 | 1.000 | — 23
2 -2332.50 | 0.115 0.231 2.550 4694.82 | 1.000 | 1.000 | —— 0
3 -4587.07 0.226 0.231 2.550 4694.82 | 1.000 | 1.000 | — 0
3) 6 h 2 12
h d Aw
(mm) (mm) Ce Cpt (mm’/m)
2500 2390 | 0.791| 0.834 794
2500 2390 | 0.792 | 0.912 794
S ™m Ta T a2 Sca a Awreq
case | () W/mmy | vy | /) N Cde | Cds | ooy | (/)
1 3382.50 0.167 0.152 1.700 3085.17 | 1.000 | 1.000 | — 23
2 2332.50 | 0.115 0.231 2.550 4694.82 | 1.000 | 1.000 | —— 0
3 77.93 0.004 0.253 2.550 5131.77 | 1.000 | 1.000 | — 0
4) 9 h 2
h d Aw
(mm) (mm) Ce Cpt (mm’/m)
2500 2390 | 0.791 | 0.755 794
S ™m Ta T a2 Sca a Awreq
case | () W/my | Qv/mmy | /) (N Cde | Cds | oy | (um/m)
1 -1127.50 0.056 0.880 1.700 17877.86 | 6.400 | 0.167 1000 0
2 -777.50 | 0.038 1.339 2.550 27205.43 | 6.400 | 0.167 | 1000 0
3 -1724.28 0.085 1.339 2.550 27205.43 | 6.400 | 0.172 1027 0

FORUMS8
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5.7

B A 1.0

3k
E - h’

824

k = kv
kv

(KN/m)

Bv T
kv = Kvo - (?;75) = 42994. 2 (kN/m%)

kvo 0.3m
kvo = Tlg -« + Fo = 653333.3 (kN/m%)
Bv (m)
Bv = fAv = 4D+ B = 11.292 (m)
Av (m")
B = 15.000 (m)
= 8.500 (m)
h = 2.500 (m)
E = 2.50x 107 (kN/n?)
a (A7 +eh)
A= ———— =4.250 ()
A +e
= 3.500 (m)
= 3.000 (m)
= 1.3
B = 0.13480 (m%)
B A =0.573 1.0

(KN/m?)

FORUMS8
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2
|
I1
(m) 0.000
(m) 2.500
(m) 0.000
(m) 8.500
(m) 0.000
(m) 4.250
(m) 0.000
(m) 15.000
(m) 0.000
1 (m) 3.000
2 12.000
b (m) 2.500
a (m) 2.000
2.000
(m 0.000
y t  (kN/m’ 18.00
y sat (kN/m®) 19.00
yw  (kN/m®) 10.00
Rd = 11690.00 (kN)
Wp = 4941.40 (kN)
Wp yp = 7.344 (m)
WF = 7809.38 (kN)
WF yF = 1.250 (m)
hw = 0.000 (m)
WF = 7809.38 (kN)
Md = 0.00 (KN.m)
Md = 0.00 (kN.m)

FORUMS8
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Cb=1.0
@
khcF( = CD Cz khco) = 1.48
CD khG = 0.70
Wu = 9600.00(kN)
yu = 13.500(m)
@)
khcF( = CD Cz khco) = 1.69
CD khG = 0.70
Wu = 9600.00(kN)
yu = 16.000(m)
ock = 24.00 (N/mm?)
oy = 345.00 (N/mm?)
oy = 345.00 (N/mm?)
(cm) (mm)
11.0 D22 250
11.0 D25 125
1 2
(cm) (mm) (cm) (mm)
11.0 D22 125 11.0 D29 125
11.0 D22 125 11.0 D25 125
1(m)
(cm)
D16 4.000 25.00
D16 4.000 25.00

FORUMS8
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6.2

2000

2000

2500

15000

2500

8500

2 500

4500

4500

FORUMS8
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6.3

Rd = 11690.00
Wp = 4941.40
WF = 7809.38
V= 24440.78 (kN)
1)
Mo=B V 6
= 34624.44 (kN.m)
B : = 8.500 (m)
2)
ML= W yu+ Wp yp) khcF + WF yF CD khG + Md
= 252349.88 (kN.m)
12 (Mo
eN = 3— o | —
ML\ v
4 6(—| —2
/%)
= 3.470 (m)
x= (B 2) eN x3= 2.340 (m)
2V
gmax = = 1392.73 (kN/m®)
x L
L : = 15.000 (m)
" (Wu + yu + Wp * yp) * kheF + Wf « yF + CD « khG
(Wu + Wp) * khcF + WF + CD + khG
H(KN) y(m) H y(kN.m)
(Wu  khcF) 14208.00 | 13.500 191808.00
(Wp  khcF) 7313.27 7.344 53708.67
(WF CD khG) 5466.57 | 1.250 6833.21
26987.84 252349.88

h6=> Hy = H =09.351(m)

VeeN - Md
HN = ———— = 9070. 18 (kN)
hG
HN
pmax = gmax * (T) = 516.85 (kN/m%)

FORUMS8
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@
1)
Mo=B V 6
= 61101.95 (kN.m)
B : = 15.000 (m)
2)
ML= (W yu+ Wp yp) khcF + WF yF CD khG + Md
= 327746.70 (KN.m)
12 Mo
eN = 3— o | —
ML\ ( v )
4+ 6(—) —2
Mo
= 5.742 (m)
x= (B 2) eN x3= 5.275 (m)
2V
gmax = = 1090.25 (kN/m%)
x L
L : = 8.500 (m)
o - (Wu * yu + Wp * yp) * khcF + Wf « yF + CD * khG

(Wu + Wp) + khcF + WF « CD + khG

H(KN) y(m | H y(kN.m)
(Wu  khcF) 16224.00 | 16.000 |  259584.00
(Wp  khcF) 8350.97 | 7.344 61329.49
(WF CD khG) 5466.57 | 1.250 6833.21

30041.53 327746.70

h6=3 Hy = H =10.910 (m)

VeeN - Md

HN = —————— = 12863. 06 (kN)

hG
HN

pmax = gmax ° (T) = 573.80 (kN/m®)

FORUMS8
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6.4

FORUMS8
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6.5

@
a)
s
i I
h2 D@ !
b
hi {1 /
L . BEHE
Xe | HITE=h
@
w1l hi b yc
x1 2
@
w2 h2 b vy sat
X2 2
©)
W3 h3 b vyt
x3 2
©)
W4 L hw y W
x4 L 2
b =15.000(m)
hl = 2.500(m)
y C =24.50(kN/m®)
y sat =19.00(kN/m*)
yt =18.00(kN/m*)
hw’ (h1 h2) hw (m
A =10.00(kN/m*)
1 L =1.750(m) h 2
W1 =1607.81(kN)
x1 = x2 = x3 = x4 = 0.875(m)
h2 h3 hw W2 W3 W4 W W ox)
(m) (m) (m) (kN) (kN) (kN) (kN) (kN.m)
0.000 | 0.000 | 0.000 0.00 0.00 0.00 | 1607.81 1406.84

FORUMS8
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L = 3.000(m)
W1 =2756.25(kN)
x1 = x2 = x3 = x4 = 1.500(m)
h2 h3 hw w2 w3 W4 W T x)
(m) (m (m) (kN) (kN) (kN) (kN) (kN.m)
0.000 | 0.000 | 0.000 0.00 0.00 0.00 | 2756.25 4134.38
L = 5.500(m)
W1 =2756.25(kN)
x1 = x2 = x3 = x4 = 1.500(m)
h2 h3 hw w2 w3 W4 W T x)
(m) (m) (m) (kN) (kN) (kN) (kN) (kN.m)
0.000 | 0.000 | 0.000 0.00 0.00 0.00 | 2756.25 4134.38
L=6.750(m) h 2
W1 =1607.81(kN)
X1 = x2 = x3 = x4 = 0.875(m)
h2 h3 hw w2 w3 W4 W T x)
(m) (m) (m) (kN) (kN) (kN) (kN) (kN.m)
0.000 | 0.000 | 0.000 0.00 0.00 0.00 | 1607.81 1406.84

FORUMS8
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b)

i

Bl - - - e e [

TYPE-1
gl

Bl

—p--

g

—- -

TYPE-2
ql
=

-—-—-—-—F:Iz

TYPE-3 _____“JIIIIIIH
Q2
LJ

TYPE4

TYPE-1
Sq 1/2
Mg 1/6
Mp 1/2
TYPE-2
Sq 1/2

(q1
Q@

g2) b L
gl g2) b’

R E

i

D2 -l—q—q—d—-—-o—Dl

il

-

gl

— g g -

Fijl

+p1
~

Ei L_JW

L

(ql g2) hN b L hg

gl

X L

Mg Sq (b x/3)

Mp 172
TYPE-3
Sq 172
Mg 1/6
Mp 172
TYPE-4
Sqg 0.0
Mg 0.0
Mp 0.0
Sq
Ma
Mp
gl
pl
hN

p2

hN x L hg

X L
x> L
hN x L hg

(KN/m?)

(kN/m?)

(kN)

= 0.371(kN)

AN HN v, HN 9070.18(KkN), V 24440.78(kN)

(m
(m
1/2(m)

(KN.m)

(kN.m)

FORUMS8
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1) L= 1.750(m) h 2
b =1.750(m) L = 15.000(m), hg = 1.250(m)
TYPE | ql(kN/m) | g2(kN/m?) | x(m) Sq(kN) Mo (KN .m) Mp(KN.m)
4 0.00 0.00 0.00
2) L = 3.000(m)
b = 3.000(m) L = 15.000(m), hg = 1.250(m)
TYPE | ql(kN/m) | g2(kN/m?) | x(m) Sq(kN) Mo (KN .m) Mp(KN.m)
4 0.00 0.00 0.00
3) L = 5.500(m)
b = 3.000(m) L = 15.000(m), hg = 1.250(m)
TYPE | ql(kN/m) | q2(kN/m?) | x(m) Sq(kN) Mg(kN.m) Mp(kN.m)
2 1392.726 — 2.340 24440.78 54259.76 | -11337.72
4) L= 6.750(m) h 2
b =1.750(m) L = 15.000(m), hg = 1.250(m)
TYPE | ql(kN/m) | g2(kN/m?) | x(m) Sq(kN) Mo (KN .m) Mp(KN.m)
1 1392.726 351.091 | — 22887.60 24014.16 | -10617.22
(Am)
a Im
M =a Mo
Mo= Mg Mp (W x)} B
M (kN.m/m)
a
B (M2
b (EZhiE)
Mo (kN.m/m)
Mg (kN.m)
Mp (kN.m)
W (kN)
X W (m)
b (m)
b=28
b=2%(Ctci +1.5d) B
B = 15.000(m)
tc tcl = 2.000(m), tc2 = 2.000(m)
d (m)

FORUMS8




- B0 -

1 L = 3.000(m)

Mg Mp > Wx Mo b d o M

(kN_.m) (kN.m) (kN.m) (kN.m/m) (m (m) (KN.m/m)
0.00 0.00 4134.38 -275.63 | 11.170 | 2.390 | 1.343 -370.13
2 L = 5.500(m)

Mg Mp > Wx Mo b d o M
(kN_m) (kN.m) (kN.m) (KN.m/m) m (m) (KN.m/m)
54259.76 | -11337.72 4134.38 2585.84 | 15.000 | 2.390 | 1.000 2585.84

S =SS0 Sh*
So= Sq ZW} B
S (kN)
Sq (kN)
W (kN)
B = 15.000(m)
Sh* (kN)
@
M
Sk’ = — |d| - tan(+y)
®
M
Sk = — |d| « tan(— v)
M (kN.m/m)
d (m)
y )
L=1750(m) h 2
Sq b So M d Sh* S
(kN) (kN) (kN) (KN.m/m) m (kN/m) (kN/m)
0.00 1607.81 -107.19 -93.79 | 2.390 0.00 -107.19
L=6.750(m) h 2
Sq Pl So M d Sh” S
(kN) (kN) (kN) (KN.m/m) m (kN/m) (kN/m)
22887.60 1607.81 1418.65 799.34 | 2.390 0.00 1418.65

FORUMS8
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@
—) 1 — 1
[ e S S o —9o 0 0 90
1 2 3 4 b 6 7 8 9 10 111
FRAME
1)
No x(m)
1 0.000
2 0.750 h
3 2.000
4 3.000
5 4.000
6 5.250 h
7 9.750 h
8 11.000
9 12.000
10 13.000
11 14.250 h
12 15.000
hg 1.250(m)
2)
a)
—mm: : [
| ) | h3
g Ly
= T i
l ey : h
I 1 “
1  hw
{1 hi
L]
b

FORUMS8
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D
Wi=b hl yc
= 520.63(kN/m)
2)
w2 b h2 vy sat
3)
w3 b h3 yt
4)
w4 b hw yw
w o wl w2 w3 wd
5)
wp Ap h2 ysat h3 yt (hw hw ) yw t
(hw hw ) 0.0
b = 8.500(m)
y C =24 _50(kN/m*)
y sat =19.00(kN/m*)
yt =18.00(kN/m*)
hw' (h1 h2) hw (m
Yy w =10.00(kN/m*)
Ap (n*)
t (m) D/10
1 2
a(m) 2.000 2.000
b(m) 2.500 2.500
Ap(m?) 5.000 5.000
t (m) 2.000 2.000
h2 h3 hw w2 w3 w4 w wp
m m) m (KN/m) | (kNZm) | (kNZm) | (kN/Zm) | (KNZm)
0.000 | 0.000 | 0.000 0.00 0.00 0.00 | 520.63 0-00
b)
V. Vp
M Mp Hp (h hg)
v (kN)
M (kN.m)
Vp (kN)
Mp (kN.m)
Hp (kN)
h = 2.500(m)
hg = 1.250(m)

FORUMS8
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Vp(kN) Hp(kN) Mp(kN.m) M(KN.m)
1 8315.70 5261.21 55551.00 62127.5
2 8315.70 5261.20 55550.38 62126.9

c)

02 = - - - -

TYPE-2
qv2

R ey ) |

(kN_.m/m)

= 0.526(kN)

= 1.250(m)

TYPE-3 WLUJJJMMM
gqvl
x |
p2 - e e e e e e e e e e
TYPE-4
QVEMW
X
Qv q L
p g hN
gn p hg L
qv (kN/m)
q (kN/m?)
gm
p (kN/m?)
hN
hN HN V, HN 12863.06(kN), V 24440.78(kN)
X = 5.275(m)
hg
L = 8.500(m)
TYPE gvl qv2 gml gm2
(KN/m) (KN/m) (kN.m/m) | (kN.m/m)
3 9267.16 EE— -6096.58

FORUMS8
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3)

4)

D
1 1 2 2
X =2.000 | x =4.000 | x =11.000 | x =13.000
M(kN.m) -1041.22 49646.83 | -34350.40 5269.01
S(kN) -1041.26 | -10398.21 | -12615.20 | -13979.27
2)
1 2
Mmax Mmin
M(KN.m) x(m) M(KN.m) x(m)
49646.83 | 4.000 | -34350.40 | 11.000
3dh 2
1 1 2 2
X =0.750 | x =5.250 | x = 9.750 | x =14.250
S(kN) -390.47 | -11048.99 | -13391.26 -6065.77
(im)
a Im
M =a (Mo B)
M (kN.m/m)
a
B (ERAIE)
b (HiE)
Mo (kN_.m)
b (m
b=8
b=tc+ 1.5d B
B = 8.500(m)
tc = 2.500(m)
d (m
1 L = 2.000(m)
Mo b d M
(kN.m) (m) (m) (kN.m/m)
-1041.22 | 6.085 | 2.390 | 1.397 -171.11

FORUMS8




- B5 -

2 L = 4.000(m)

Mo b d o M
(kN.m) m (m (KN.m/m)
49646.83 | 8.500 | 2.390 | 1.000 5840.80

3 L =11.000(m)

Mo b d o M

(kN.m) m (m) (KN.m/m)
-34350.40 | 6.085 | 2.390 | 1.397 -5645.09
4 L =13.000(m)
Mo b d o M
(kN.m) m (m) (KN.m/m)
5269.01 | 8.500 | 2.390 | 1.000 619.88
S=S0 B
S (KN/m)
So (kN)
B = 8.500(m)
No So S
(m) (kN) (kN/m)
1 0.750 -390.47 -45.94
2 5.250 | -11048.99 -1299.88
3 9.750 | -13391.26 -1575.44
4 14.250 -6065.77 -713.62

FORUMS8
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6.6
D
L = 3.000(m)
L2 = 0.000(m)
(m

.500
.500

000
.000
.000
.000
.000

.000
.000

=
[eNe] oOUIowWwo NN

kN.m/m -275.625

kN.m/m 0.000
kN.m/m 0.000
kN.m/m 0.000

kN.m/m 3617.317
kN.m/m -755.848

Mo kN.m/m 2585.844

d mm 2390.0

a — 1.000

M=a Mo kN.m/m 2585.844

S kN/m 1445.635

b(mm) 1000.0
h(mm) 2500.0
(mm) (mm?) 1| 2390 | 40.536x 10°
My (kN.m/m) 3148.62
Mo My 0K
1/2 (mm?) 383.169x 10°

FORUMS8
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L = 5.500(m)
L2 = 0.000(m)
(m
2.500
2.500
0.000
3.000
1 0.000
15.000
2 0.000
0.000
0.000
kN.m/m -275.625
kN.m/m 0.000
kN.m/m 0.000
kN.m/m 0.000
kN.m/m 0.000
kN.m/m 0.000
Mo kN.m/m -275.625
d mm 2390.0
o — 1.343
M=a Mo kN.m/m -370.132
S kN/m -183.750
b(mm) 1000.0
h(mm) 2500.0
(mm) (mm*) 1 2390 15.484x 10°
My (kN.m/m) -1230.22
M My oK
1/2 (mm?) 383.169x 10°

FORUMS8



- B8 -

@

L = 2.000(m)
L2 = 0.000(m)
Mo | kN.m/m 619.884
d mm 2390.0
a — 1.000
M=a Mo |kN.m/m 619.884
b(mm) 1000.0
h(mm) 2500.0
(mm) (mm*) 1 2390 30.968x 10’
My (KN .m/m) 2423.39
Mo My 0K
1/2 (mm?) 383.169x 10°

FORUMS8
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L = 4.000(m)
L2 = 0.000(m)
Mo kN.m/m | -4041.223
d mm 2390.0
a — 1.397
Mo kN.m/m | -5645.094
b(mm) 1000.0
h(mm) 2500.0
(mm) (mm?) 1| 2390 | 51.392x 10°
My (kN.m/m) -3962.48
Mo My ouT
1/2 (mm?) 383.169x 10°

1

FORUMS8
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L = 11.000(m)
L2 = 0.000(m)
Mo kN_.m/m 5840.803
d mm 2390.0
a — 1.000
M=a Mo | KkN.m/m 5840.803
b(mm) 1000.0
h(mm) 2500.0
(mm) (mm?) 1| 2390 | 40.536x 10°
My (kN.m/m) 3148.62
Mo My ouT
1/2 (mm?) 383.169x 10°

1

FORUMS8




- 61 -

L = 13.000(m)
L2 = 0.000(m)
Mo kN_.m/m -122._497
d mm 2390.0
a — 1.397
M=a Mo | KkN.m/m -171.113
b(mm) 1000.0
h(mm) 2500.0
(mm) (mm?) 1| 2390 | 30.968x 10°
My (kN.m/m) -2423.39
Mo My 0K
1/2 (mm?) 383.169x 10°

FORUMS8
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6.7
@
L = 1.750(m)
L2 = 1.250(m)
(m
2.500
2.500
0.000
1.750
1 0.000
15.000
2 0.000
0.000
0.000
(kN/m) (kN.m/m)
-107.188 -93.789
0.000 0.000
0.000 0.000
0.000 0.000
1525.840 1600.944
EE— -707.815
-M/d  tan(y ) 0.000
1418.652 799.340
b (mm) 1000.0
h (mm) 2500.0
d (mm) 2390.0
Cc — 1.000
Ce — 0.791
pt ) 0.170
Cpt — 0.839
a (mm) 2311.6
Cdc — 4.158
TC (N/mn) 0.350
Sc (kN) 2310.056
Aw (mm*) 7.944x 10°
s (mm) 250.0
Cds — 0.387
o sy (N/mm*) 345.0
Ss (kN) 881.431
Ps = Sc + Ss (kN) 3191.487
S Ps S Ps OK

FORUMS8
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L = 6.750(m)
L2 = 1.250(m)
(m
2.500
2.500
0.000
1.750
0.000
15.000
0.000
0.000
0.000
(kN/m) (kN.m/m)
-107.188 -93.789
0.000 0.000
0.000 0.000
0.000 0.000
0.000 0.000
0.000
-M/d  tan(y ) 0.000
-107.188 -93.789
b (mm) 1000.0
h (mm) 2500.0
d (mm) 2390.0
Cc — 1.000
Ce — 0.791
pt () 0.065
Cpt — 0.630
a (mm) 2750.0
Cdc — 3.548
TC (N/mn) 0.350
Sc (kN) 1478.976
Aw (mm*) 7.944% 10°
s (mm) 250.0
Cds — 0.460
o sy (N/mm*) 345.0
Ss (kN) 1048.608
Ps = Sc + Ss (kN) 2527.584
S Ps Ps OK

FORUMS8




- 64 -

@

L = 0.750(m)
L2 = 1.250(m)
b (mm) 1000.0
h (mm) 2500.0
d (mm) 2390.0
Cc — 1.000
Ce - 0.791
pt () 0.130
Cpt — 0.759
a (mm) 1773.3
Cdc — 5.239
TC (N/mm*) 0.350
Sc (kN) 2633.047
Aw (mm*) 7.944x 10°
s (mm) 250.0
Cds — 0.297
o sy (N/mm*) 345.0
Ss (kN) 576.942
Ps = Sc + Ss (kN) 3209.989
S (kN) -713.621
Ps Ps OK

FORUMS8




- 65 -

L = 5.250(m) 1 2
L2 = 1.250(m)
b (mm) 1000.0
h (mm) 2500.0
d (mm) 2390.0
Cc — 1.000
Ce — 0.791
pt () 0.215
Cpt — 0.915
a (mm) —
Cdc — 1.000
TC (N/mnt) 0.350
Sc (kN) 605.832
Aw (mm*) 7.944x 10°
S (mm) 250.0
Cds — 1.000
o sy (N/mm*) 345.0
Ss (kN) 2278.339
Ps = Sc + Ss (kN) 2884.171
S (kN) -1575.443
Ps S Ps OK

FORUMS8
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L = 9.750(m) 1 2
L2 = 1.250(m)
b (mm) 1000.0
h (mm) 2500.0
d (mm) 2390.0
Cc — 1.000
Ce — 0.791
pt () 0.170
Cpt — 0.839
a (mm) —
Cdc — 1.000
TC (N/mnt) 0.350
Sc (kN) 555.635
Aw (mm*) 7.944x 10°
S (mm) 250.0
Cds — 1.000
o sy (N/mm*) 345.0
Ss (kN) 2278.339
Ps = Sc + Ss (kN) 2833.974
S (kN) -1299.881
Ps S Ps OK

FORUMS8
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L = 14.250(m)
L2 = 1.250(m)
b (mm) 1000.0
h (mm) 2500.0
d (mm) 2390.0
Cc — 1.000
Ce — 0.791
pt () 0.130
Cpt — 0.759
a (mm) 2000.0
Cdc — 4.783
TC (N/mnt) 0.350
Sc (kN) 2404 .209
Aw (mm*) 7.944x 10°
S (mm) 250.0
Cds — 0.335
o sy (N/mm*) 345.0
Ss (kN) 733.884
Ps = Sc + Ss (kN) 3138.093
S (kN) -45.938
Ps Ps OK

FORUMS8
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7
7.1 Kv, ks
€H) kv (kN/m*®)
Bv T
kv = kvo ¢
5]
= 50456 (kN/m*)
kvo (kN/m®)
1
kvo = 0.3 +ED = 766726. 7 (kN/m’)
ED = 230018 (kN/m?)
Bv (m)
Bv = {Av = 11.292 (m)
Av (m?»
Av = Bx By = 127.500 (m%)
Bx = 15.000 (m)
By = 8.500 (m)
@) ks (kN/m®)
ks = A kv
= 16802 (kN/m®)
A
7.2
Ass = ks Av
Asr = Ars = 0.0
Arr = kv IB
1B m)
1B = TR Bx « By'  (¥&#h 7 )
1
IB = & By - Bx*  (F&HE A 7 H) )
IB m 767.656 2390.625
Ass KkN/m 2.142255E+006 2.142255E+006
Asr kN/rad 0.000000E+000 0.000000E+000
Ars kN.m/m 0.000000E+000 0.000000E+000
Arr kN.m/rad 3.873286E+007 1.206214E+008

= 0.333

FORUMS8
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FORUMS8
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vb
Df ya
= Df’
7 hw .
of () 5.00
DfF* (M) 2.00
3 (m) 3.00
© () 1.00
tl (m) 1.00
y b (kN/m) 16.00 17.00
vy a (kN/m) 18.00 19.00
vy (KN/m) 19.00 20.00
y w  (kN/m%) 10.00
Y
y a
y b
Yy w
y1
a.
yl=y
b.
yl=y yw
y 2
a.
y2=(y tl ya t2 yb t3) Df
b. tl
vy2= (¢ yw) hw vy (t1 hw+tya t2 yb t3

t3

t2

tl

Df

FORUMS8
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C. tl Df*

y2= (¢ yw) t1 (ya yw) (hw t1) ya (OfFf hw) yb t3 Df

d. Df* Df

y 2 (v yw tL (ya yw) t2 (yb yw) (w DFfF') yb (OFf hw) Df
e. Df

y2= (¢ yw tI (ya yw) t2 (yb yw t3 Df

case Mm | y1&Nm) | vy 2 (kN/m)
1 0.000 | (b) 10.000 | (&) 17.000
2 0.000 | (b) 10.000 | (&) 17.000
3 0.000 | (b) 10.000 | (&) 17.000

FORUMS8




- 72 -

8.2

@
1
0.25 0.00
0.25 0.00
0.00 (m)
2)
( kN/m*)
yc 24.5
) vyt 18.0
) y sat 19.0
A 10.00
3)
1 2
a (m) 2.000 2.000
b (m) 2.500 2.500
a b
4)
( m)
B1 = 0.000 L1 = 0.000
B2 = 15.000 L2 = 8.500
B3 = 0.000 L3 = 0.000
Lx = 15.000 Ly = 8.500
ex = 0.000 ey = 0.000
H1 = 0.500 ( )
H2 = 0.000
H3 = 2.500
5)
( m)
Y X1 X2
0.000 -4.500 4.500
0.000 -4.500 4.500

FORUMS8
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6)

case (m)
1 0.000
2 0.000
3 0.000

FORUMS8
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@

2000

2000

2500

15000

2500

8500

!
2 500
i
:

i

4500

4500

500

FORUMS8
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®

1137 3| 227
@ @

1) 15.000 8.500 2.500 24.5
2) 15.000 8.500 0.500 18.0
3) 2.000 2.500 0.500 18.0
4) 2.000 2.500 0.500 18.0

V' (kN) x (m) V. x (kN.m) y (m) V y (kN.m)
1 7809.4 0.000 0.0 0.000 0.0
2 1147.5 0.000 0.0 0.000 0.0
3 -45.0 -4.500 202.5 0.000 0.0
4 -45.0 4.500 -202.5 0.000 0.0

8866.9 0.0 0.0

7809.4 (kN)
1147.5 (kN)
-45.0 (kN)
-45.0 (kN)

FORUMS8
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©)

(=
@ @ 2
V' (kN) z (m)
kh H (kN) H z (kN.m) | kh H (kN) H z (kN.m)
7809.4 1.250 | 0.25 1952.3 2440.4 ]0.25 1952.3 2440.4
1952.3 2440.4 1952.3 2440.4

FORUMS8
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®)

z = 2.500 (m)
case vV (kN) H (kN) y (m) M (kN.m) V y (kN.m) | H z (kN.m)
1 1 11320.0 0.0 0.000 0.0 0.0 0.0
2 11320.0 0.0 0.000 0.0 0.0 0.0
22640.0 0.0 M= 0.0
2 1 7820.0 1830.0 0.000 17850.0 0.0 4575.0
2 7820.0 1830.0 0.000 17850.0 0.0 4575.0
15640.0 3660.0 M= 44850.0
3 1 5540.0 0.0 0.000 0.0 0.0 0.0
2 10100.0 0.0 0.000 0.0 0.0 0.0
15640.0 0.0 M= 0.0

z = 2.500 (m)
case vV (kN) H (kN) x (m) M (kN.m) V. x (kN.m) | H z (kN.m)
1 1 11320.0 190.0 | -4.500 1340.0 -50940.0 475.0
2 11320.0 -190.0 4.500 -1340.0 50940.0 -475.0
22640.0 0.0 M= 0.0
2 1 7820.0 130.0 | -4.500 930.0 -35190.0 325.0
2 7820.0 -130.0 4.500 -930.0 35190.0 -325.0
15640.0 0.0 M= 0.0
3 1 5540.0 2050.0 | -4.500 10280.0 -24930.0 5125.0
2 10100.0 1610.0 4.500 7440.0 45450.0 4025.0
15640.0 3660.0 M= 47390.0

FORUMS8
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(©)
case Vo (kN) Hyo (kN) Mxo (KkN.m) Hxo (kN) Myo (kN.m)
1 8866.9 E— 0.0 e 0.0
( 0.000) 0.0 0.0 0.0
0.0 0.0 0.0 0.0
22640.0 0.0 0.0 0.0 0.0
31506.9 0.0 0.0 0.0 0.0
2 8866.9 EE— 0.0 E— 0.0
( 0.000) 0.0 0.0 0.0
1952.3 2440.4 0.0 0.0
15640.0 3660.0 44850.0 0.0 0.0
24506.9 5612.3 47290.4 0.0 0.0
3 8866.9 EE— 0.0 E— 0.0
( 0.000) 0.0 0.0 0.0
0.0 0.0 1952.3 2440.4
15640.0 0.0 0.0 3660.0 47390.0
24506.9 0.0 0.0 5612.3 49830.4

FORUMS8
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M
case Vo (kN) Hyo (kN) Mxo (kN.m) Hxo (kN) Myo (KN.m)
1 31506.9 0.0 0.0 0.0 0.0
2 24506.9 5612.3 47290.4 0.0 0.0
3 24506.9 0.0 0.0 5612.3 49830.4

FORUMS8
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